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Closed book.  No work needs to be shown for multiple-choice questions. 
 
 
1. There is a current I flowing in a clockwise direction in a square loop of wire that is in the 

plane of the paper. If the magnetic field B is toward the right, and if each side of the loop has 
length L, then the net magnetic torque acting on the loop is: 

 

a. 2ILB. 
b. ILB. 
c. 2IBL2. 
d. IBL2. 
e. zero. 

 

BI

L
 

 
 
 
2. A proton moving at a speed of 3.8 × 106 m/s cuts across the lines of a magnetic field at an 

angle of 70°. The magnitude of the magnetic field is 0.25 × 10−4 T. What is the magnitude of 
the force acting on the proton? 

 
a.  5.1 × 10−18 N. 
b.  9.0 × 10−18 N. 
c.  1.4 × 10−17 N.   
d.  2.3 × 10−17 N. 
e.  2.6 × 10−18 N. 

 
 
3. A conductor suspended by two flexible wires as shown in the figure has a mass for unit length  
of 0.040 kg/m. What current must exist in the conductor for the tension in the supporting wires to  
be zero when the magnetic field is 3.6 T into the page? 
 

 
       
      a.  0.11 A to the left. 
      b.  0.11 A to the right. 
      c.  0.011 A to the left. 
      d. 0.011 A to the right. 
      e.  zero. 
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4. A singly charged positive ion has a mass of 2.5×10−26 kg. After being accelerated though a 

difference of potential of 1000 V, the ion enters a magnetic field of 0.5 T, in a direction 
perpendicular to the field. Calculate the radius of the path of the ion in the field. 

 
  a. 1.77 cm. 
  b. 3.54 cm. 
  c. 7.08 cm. 
  d. 0.89 cm.  
  e. 2.66 cm. 
 
 
5. Two long straight wires are parallel and carry current in the opposite direction.  The currents 

are 8.0 Amps and 12 Amps and the wires are separated by 0.40 cm.  The magnetic field at a 
point midway between the wires is: 

 
a.  0. 
b.  4.0 × 10−4 T. 
c.  8.0 × 10−4 T. 
d.  1.2 × 10−3 T. 
e.  2.0 × 10−3 T.  
 

 
 
 
 
6.  In the sketch, the two long straight wires are separated by a distance of d = 36 cm.  The 

currents are I1 = 8.0 A to the right in the 
upper wire and I2 = 5.0 A to the left in the 
lower wire.  What is the magnitude and 
direction of the magnetic field at point P, 
that is a distance of d/2 = 18 cm below 
the lower wire? 

 
a.  1.1 µT, out of the page. 
b.  1.1 µT, into the page. 
c.  8.5 µT, out of the page. 
d.  2.6 µT, into the page. 
e.  2.6 µT, out of the page.  
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7. A magnetic field of 5.0 T is measured inside a solenoid with 800 turns and that is 10.0 cm 

long. The radius of the solenoid is 3.0 cm. What is the current through one of the solenoid’s 
loops? 
      
      a.  30 A. 
      b.  9.9 x 102 A. 
      c.   5.0 x 102 A. 
      d.  1.0 x 103 A. 
      e.  1.0 x 104 A. 

 
 
8. The wires in the figure carry currents of 3.00A and 5.00 A in the directions indicated. Find the 
magnitude of the magnetic field at point P, located 20 cm above the wire carrying the 5.00 A 
current. 
 
 

 
       
      a.  5.0 µT. 
      b.  2.1 µT. 
      c.  7.1 µT. 
      d.  4.2 µT. 
      e.  6.7 µT. 
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Acircle = πr2 ;  
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